C%ENNTERTJL APPLICATION AND SWITCH VER.3
CO. LTD. ORDERING GUIDE

1) APPLICATION
DOINDOOR DOUTDOOR  OMARINE ENVIRONMENT ~ 0OMOBILE EQUIPMENT 0 OVERHEAD CRANE/HOISTING 0 CRANE CHAIR

O PORTABLE EQUIPMENT 0O FOOT PEDAL 0 OTHER
2) CONTROLLER SIZE & DURABILITY
O MINIATURE: V10 H100 H7 V14 V20 S14 O MEDIUM: V11 V8 D8
O SMALL: V5 VV5 S2 S21 S22 S23 S24 N6 O LARGE: V3 V6 VV6 D64 DD64 K2
3) CONTROLLER FUNCTIONS
O SINGLE AXIS (PICK 1 OF 3 ITEMS BELLOW) O DUAL AXIS O MULTI AXIS
E— E— — —
— I E—
é — N —
/1
[— [E— TWISTHANDLE
1 £ N
O STANDARD O FULL TRAVEL 0 CENTER TO END
BI-DIRECTIONAL UNI-DIRECTIONAL UNI-DIRECTIONAL
4) SWITCH SPECIFICATIONS
O LEFT HAND MOUNTING O RIGHT HAND MOUNTING
VOLTAGE AC/IDC CURRENT AMPS. VOLTAGE AC/DC CURRENT AMPS.
DIRECTION 1&2 DIRECTION 3&4 DIRECTION 5&6 DIRECTION 7&8
NUMBER OF CONTACTS NUMBER OF CONTACTS NUMBER OF CONTACTS NUMBER OF CONTACTS
STEPLESS OR STEPS STEPLESS OR STEPS STEPLESS OR STEPS STEPLESS OR STEPS
O SPRING RETURN O SPRING RETURN O SPRING RETURN O SPRING RETURN
O FRICTION BRAKE O FRICTION BRAKE O FRICTION BRAKE O FRICTION BRAKE
O POTENTIOMETER O POTENTIOMETER O POTENTIOMETER O POTENTIOMETER
O ELECTRONICS O ELECTRONICS O ELECTRONICS O ELECTRONICS
5) ELECTRONICS
A) VALVE SPECIFICATIONS
VALVE MANUFACTURE MODEL NUMBER
SUPPLY VOLTS: VDC COIL RESISTANCE: OHMS THRESHOLD: mA  MAX. OUTPUT mA
OSINGLE COIL  ODUAL COIL  0FLOW CONTROL 0 SWITCHES FOR DIRECTIONAL VALVES ~ PWM FREQUENCY: Hz
B) SIGNAL OUTPUTS
SUPPLY VOLTS: VDC 04-20mA  00-20mA 00-10V O-10Vto+10V o OTHER
C) OPTIONS FOR BOTH
O SINGLE MAX. (AADJ.) 0 DUAL MAX.(A&BADJ.) O DUAL RANGE mA O RAMP TIME SEC.

6) HANDLE TYPE
O STANDARD KNOB O MECHANICAL INTERLOCK 0O PUSHBUTTON DEADMAN 0O PUSH DEADMAN 0O PULL DEADMAN

0 PALM HANDLE
7) NAMEPLATE SPECIFICATIONS

0 STANDARD NAMEPLATE 0O SPECIAL NAMEPLATE (ATTACH LAYOUT DRAWING OR SPECIFICATIONS)

8) ENCLOSURE

O GENERAL PURPOSE O WEATHERPROOF 0O CORROSIVE RESISTANT (PLASTIC) O PORTABLE CONSOLES
ENCLOSURE DIMENSIONS L= W= H= oTS1 OTS2

9) NOTES

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 | fax Go5) sotc60s




SENETT H100 PROPORTIONAL VER.3

CONTROL

CO. LTD. CONTROLLER 1.5.1

MINI KNOB THE H100 MASTER SWITCH IS
DESIGNED FOR MOBILE
05— 250 EQUIPMENT.

IT IS SMALL, LIGHTWEIGHT
AND SOLID IN DESIGN.
IT IS BUILT FOR 6 MILLION
OPERATIONS.
IT IS OIL, OZONE, UV AND
SALT ATMOSPHERE
(OCEAN CONDITION) RESISTANT.
CONTACTS ARE RATED AT
5A 30VDC
DEGREE OF PROTECTION FRONT:
P54

100

P ~4206—

105

4—‘ 350 L J

o
)
145
170

B

I
0 B5 PALM HANDLE Bl PALM;, HANDLE

PANEL CUT OUT

TEL: (905) 564-0167

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 .. (905) 564-6633




VER 3

PAGE 1.5.2

XINO HLVD ODNIHOLIMS
TVIDEdS NI ¥V

A L [
qaads 1
aaads e
qaads €
qaads v T

HDLIMS HdAL N3dO—-0
"TONT A00UdIHHLVIM—M
"IONA IS0ddNd TVIANID—D

LIVHD NI IV
ALVIJINVN TVIOZdS—0
102 qaYINdIY ION JI-X
‘LOES HLVIJINVN qUVANVIS—-N-1

SOINOYULOATH—H

mIvVad NOILOIYJd—I
NINLIT DNIIdS—Z

qIIINOIY LON JAI-X
"YUV LOVINOD TVIOAdS—O0
2'2’'02 LIJHS WO¥d—-2-1T
¥—€ dId "¥4¥v LOVINOD

SOINOULOETH—J

DIVIE NOLLOIgJ—I
NINLIT DNIYdS—Z

qQIIINDIY LON JI-X
YV LOVINOD TVIDEIS—0
2’2’02 LIFHS WO¥I—-2—T1
2—1 "dId "ggv LOVILNOD

HIVD DNIHOLIMS TVIDAS—¥
O s# ALvD DNIHDIIMS-S
+ 2f dALVD DNIHDIIMS-2
I T# ELVD DNIHOLIMS—T

S "LOUS WIS TIANVH TVIOEdS
'SS0d 0 NI JMDOTIHINI "HOHN-N
SSHYd OL NVN aviad—L

TTANVH QIVANVLS—X

] O OO0 OO0 O O

[
lo

[
o

[
lo

[
o

HOLIMS Y¥HLSVA DJISVA—00TH

(@)

- 0\

[TTTTol]
V- _
S

<—10

m——o0

EB/____

JOB #

EB/____

SENETT
H100 MASTER SWITCH

FROM:

DATE:

NAME:

£€99-%9¢ (S06) XVd L9T0—¥%9G (S06) ANOHI €I2—ILST 'NO ‘VONVSSISSIN "dATH TVIINAV S22 "ALT "00 TOJINOD LLANIS




SENETT
contRoL| V10 SWITCHING GATES | VERS3

CO. LTD. 1.4.3

#3

1

il e
1 1

3 4 3 4 3 4
2 2 2
STANDARD STANDARD STANDARD
e [y e n Py oo o
=5 15013 KBKT 62" 54 |75o0-z5 IOKT T 557" xmxr 80
TR L%l 0-ps KBKT 63 9500025  KBKT 554
=5 [5-0-r6 KBKT 308 5|58 0-58  KBKT 32a 123-0-128 xmxr seb

13-0-13  ypxkT 83

FM P FS S EN S P RSN NS PSS RS S RS

o (o [car [ co |co | o | Ca | Lo | Lo | Lo | co=

13-0-13
19-0-13  KBKT 79
1 1 £9-0-f7  KBKT 37b
y— ~—— 18-0-18  KBKT 28b
@ @ @ @ %g:%:lz% KBKT 62
20-0-80 kKT 76
3 4 3 4 £9-0-20  KBKT 18b
2 2
SPECIAL SPECIAL
H:g 22:8—12.5 gg ggb |%i:¢21 525356 KBKT 72
1 1 1
O ——0 O ——0 O——0
3 4 3 4 3 4
2 2 2
SPECIAL SPECIAL SPECIAL
133[5°0°%  xmkr 4op ElEr 13522075 kKt 58

TEL: (905) 564-0167

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 ., (905) 564-6633




SENETT
CONTROL V10 PARTS LIST \ﬁE "13

CO. LTD.

[54]
C
O] 24.6
[57] al b7
,. 24.7]
&‘REFER
[55 . T0
OR CR#]
56]
48.3 Sr
102 |11 14 124 13
= | ] H | =
2.4
m 2.1 @
38 —— - - -
39— == - -
NOTE: [ ]=H100 PART ONLY ,HJ,H, .HJ ﬂ 36

TEL: (905) 564-0167
225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 FAX: (905) 564-6633




SENETT

VER.3

CONTROL V10 PARTS LIST
CO. LTD. 1.4.5
PART# | DESCRIPTION PART# | DESCRIPTION

1.1 STD.SHAFT ASSY. & RETURN SPRING c/w CASTING 23 METAL PLATE FOR MECHANICAL INTERLOCK

1.2 STD.SHAFT ASSY. & RETURN SPRING FOR MECH.c/w CASTING 23.1 BLANK METAL PLATE

1.3 STD.SHAFT ASSY. & RETURN SPRING FOR PUSH DM. c/w CASTING T’ 24.1 PRINTED CIRCUIT BOARD FOR 4 MICRO SWITCHES (BLACK)
14 STD.SHAFT ASSY. & RETURN SPRING FOR B1T c/w CASTING 242 PRINTED CIRCUIT BOARD FOR 4 MICRO SWITCHES (WHITE)
1.5 STD.SHAFT ASSY. & RETURN SPRING FOR B_c/w CASTING 24.3 PRINTED CIRCUIT BOARD FOR RELAY FOR BANG BANG

1.6 STD.SHAFT ASSY. & RETURN SPRING FOR B c/w CASTING BANG 24.4 PRINTED CIRCUIT BOARD FOR 8 MICRO SWITCHES (BLACK)
1.7 STD.SHAFT ASSY. & RETURN SPRING FOR B_c/w CASTING H100 245 PRINTED CIRCUIT BOARD FOR BANG BANG

1.8 STD.SHAFT ASSY. & RETURN SPRING FOR MECH. c/w CASTING H100 24.6 MICRO SWITCH BOARD FOR ELECTRONICS (BLACK)
2.1 KNOB AND ROD FOR MECHANICAL INTERLOCK ‘M’ 24.7 MICRO SWITCH BOARD FOR ELECTRONICS (WHITE)
23 MINI KNOB 24.8 PRINTED CIRCUIT BOARD FOR 8 MICRO SWITCHES (BLACK/WHITE)
2.4 SOLID KNOB 25.1 SHOULDER SCREW M4x6

2.5 KNOB AND ROD FOR PUSH DEAD MAN ‘T’ 25.2 SHOULDER SCREW M4x10

3 RUBBER BOOT 26 POTENTIOMETER MOUNTING BRACKET

4 PLASTIC PLANGE PLATE 27 POTENTIOMETER BRACKET MOUNTING SCREWS M3.5x8

5 RUBBER GASKET 28 POTENTIOMETER SEE SECTION 6

6.1 PLASTIC BUSHING FOR RETURN SPRING 29 BANG BANG CONTACT ACTUATOR

6.2 RETURN SPRING 30 SPLIT LOCK WASHER M4

6.3 METAL HOLDER FOR RETURN SPRING 31 FLAT HEAD SCREW FOR CONTACT ACTUATOR M4x12
6.4 RETURN SPRING CLIP 32.1 #1 CONTACT PLATE/SWITH GATE FOR BANG BANG
6.5 SPRING FOR WIRES 32.2 #2 CONTACT PLATE/SWITH GATE FOR BANG BANG
6.6 CLAMP FOR SPRING FOR WIRES 32.3 #3 CONTACT PLATE/SWITH GATE FOR BANG BANG
6.8 RETURN SPRING FOR MECHANICAL INTERLOCK ‘M’ 34 FLAT HEAD SCREW FOR CONTACT PLATE M4x8

7 1" MOTION BRACKET 35 MICROSWITCH (0.187 TABS)

8 2" MOTION BRACKET 35.1 MICROSWITCH (SCREW TERMINALS)

9 FLAT WASHER M8 35.2 MICROSWITCH FOR PCB MOUNTING
10.2 CAM SHAFT c/w RING 0 1 2 CONTACS 36 CHEESE HEAD SCREW M3x16

11 PLASTIC BUSHING 37 SPLIT LOCK WASHER M3
12.3 SPACER 1.5 mm 38 FLAT WASHER M3
12.4 SPACER 3.0 mm 39 INSULATING PLATE

13 CAM SHAFT SCREW M3x5 40 2 POLE TERMINAL STRIP (GREEN)

14 BLANK METAL CAM 41 8 POLE TERMINAL STRIP (GREEN)
17.1 HEX SOCKET CAP SCREW M4x16 42 2 POLE TERMINAL STRIP (WHITE)
17.2 HEX SOCKET CAP SCREW M4x20 43 3 POLE TERMINAL STRIP (WHITE)
17.3 HEX CAP SCREW M4x20 44 3 POLE TERMINAL STRIP (GREEN)
17.4 M4 FLAT WASHER NYLON 49 4 mm SPACER

18 MICROSWITCH c/w LEVER (173) (WHITE) 49.1 4 mm SPACER FOR MECHANICAL INTERLOCK
18.1 MICROSWITCH c/w ROLLER WATERTIGHT (BLACK) 53 ROUND SHIM 6x12x0.3

19 SWITCHING GATES #1 SEE PAGE 1.4.3 54 HEX STANDOFF M4x15

20 SWITCHING GATES #2 SEE PAGE 1.4.3 55 2 POLE TERMINAL STRIP (WHITE)

21 SWITCHING GATES #3 SEE PAGE 1.4.3 56 3 POLE TERMINAL STRIP (WHITE)

22 SWITCHING GATES #4 SEE PAGE 1.4.3 57 CHEESE HEAD SCREW M4x10

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3

TEL. (905) 564-0167
FAX (905) 564-6633




SENETT H100 ELECTRONIC VER.3

CONTROL

CO. LTD. CALIBRATION 1.5.6
B9701-1
O Dual Coil
BIA|X|-]-]+
5 [1 Threshold Adjustment (TH)
g Adjust the "Threshold" Trimpot for the desired minimum
c_; AUX POWER speed/flow. Move the handle slowly until the LED just
> SUPPLY comes ON. If speed is too slow, turn the adjustment screw
CW. If the speed is too fast, turn the adjustment screw
gower CCW.
I . . .
HPPY [J Maximum Adjustment (Single Max)
1 Single Coll

Adjust the "Maximum" Trimpot for desired maximum
Bl AI|X + speed/flow when the handle is at full travel. Assure
- - that the speed decreases when the handle is moved

m m m D |_’__| m away from fully deflected position.

‘ [1 Dual Max Adjustment (Max A, Max B)

T—D
o
Q See adjustment for "Maximum adjustment".
>
®© AUX POWER Max A and Max B provide the joystick controller with
> SUPPLY ! :
separate maximum adjustments for each of the two
1 Flow Control directions.

B|A - -+ [J Ramping

X
D m m D m m Adjusts the rate of change of output current as the handle

is changing position. To increase the Ramp time, turn the
‘ adjustment CCW; to decrease the ramp time, turn the

8 adjustment CW. To turn the Ramping completely off, turn
o the adjustment to minimum. (20 times CW).
(—>U AUX POWER
> - SUPPLY [] Dual Range Adjustment (DR)
When power is applied to the R terminal, the joystick
g is in dual range mode. Adjust the "maximum
§ R setting" potentiometer for desired maximum current
R when the handle is deflected to its full travel position.
2 J‘gx A?Béx 2, h h Assure that the speed decreases when the handle is
| +| " | ; |X|A|B| moved away from fully deflected position.
cw CCW _ Note: The two '-' terminals are internally connected together
~—| Clockwise [>] Counter-Clockwise

For valve current less than 2 Amps, the valve(s) can be
connected direct to the negative supply.
Voltage: [] 12vDCc [ 24vDC

TEL: (905) 564-0167
225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 FAX: (905) 564-6633




	Switch Ordering Guide
	1.5.1 H100 Drawing
	1.5.2 H100 Target Chart
	1.4.3 V10/H100 Switching Gate
	1.4.4 V10/H100 Parts Identification
	1.4.5 V10/H100 Parts List
	1.5.6 H100 Electronic Calibration



